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~k~jl§¥%\ﬁ§§%\£§§% - 45,100, 000 | 22, 539, 841 245 D1
mﬂﬁﬁ%xggg ERER 31, 160, 420 | 15, 970, 000 245 D1
1 H o1 G1 778, 385 615, 506 54y D1

2 | A1 G2 688, 257 688, 257 0
3 IR 1 G3 545, 166 0 ks
4 | R 2 G4 1,704,975 0 A
6 H 3 G5 1,478, 362 0 ks
8 | & 3 G6 1, 170, 210 0 £
9 | H 4 G7 2,202,830 | 1,522,830 35y D1
11 | B 5 G 8 1, 200, 902 199, 256 6%y D5
12 | H 5 G9 3,827,951 | 1,324,345 35y D2

13 | B 6 G10 2,289,149 | 2,289, 149 0
4 | B 7 G1l1 1,091, 246 901, 690 64y D1
15 | & 6 G12 269, 535 99, 935 84y D5
16 | H 8 G13 671, 068 0 E=Xs
18 | B 9 G14 706, 523 570, 322 54y D1
19 | B 10 G15 874, 139 565, 850 35y D1
20 | |} 7 G16 2,943, 122 0 £t

21 | B 8 G17 1,002,436 | 1,002,436 0
22 | & 9 G138 722, 725 4 2
24 | H 11 G19 1, 274, 030 948, 927 445 D1
25 | B 12 G20 1,709,399 | 1,261,589 445 D1
26 | B 13 G21 987, 384 351, 768 35y D2
27 | B 10 G22 1,626,626 | 1,312,500 55y D1
28 | H 14 G23 1, 140, 000 0 £
29 | B 11 G24 971, 982 946, 397 385y D1
30 | H 15 G25 2,040,400 | 1,260, 400 84y M3
31 | H 16 G26 1, 806, 586 852, 314 245 D1
32 | H 17 G27 2,701,886 | 1,827,532 35y D1
33 | 7 3 G28 1, 726, 742 189, 929 94y D8

34 | A 2 G209 738, 400 738, 400 0
3B | K12 G30 1, 720, 545 0 £
36 | B 18 G31 1, 045, 801 954, 374 804y DT
37 | H 19 G32 1,476, 276 960, 530 35 D1
38 | B 13 G33 224, 000 144, 000 35y D1
39 | H 20 G 34 1,500,259 | 1,133,600 445 D1
40 | B 14 G35 598, 109 478, 109 54y D1
41 | B 21 G36 2,194, 246 0 £
42 | B 15 G37 1,658,443 | 1,069, 337 35y D1
43 | B 16 G 38 1, 025, 229 513, 668 245 D1
44 | H 22 G309 3,198, 974 0 £
45 | B 17 G40 913, 159 136, 660 75y D6
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46 | B 18 G41 293, 848 0 AR
47 | B 23 G42 1, 508, 253 830, 883 9%y D4
48 | B 19 G4 3 2,221, 189 135, 023 334y D31
49 | B 20 G44 1, 148, 653 497, 040 5y D4
50 | H 24 G45 1,049, 115 0 £
51 | B 21 G46 2,074, 146 0 ks
52 | B 22 G47 1, 734, 091 919, 145 245 D1
53 | B 23 G4 8 1,761, 800 0 ks
54 | H 25 G409 1,018,949 | 1,013,108 0
55 | B& 24 G50 1,688,068 | 1,011,218 55y D2
56 | H 26 G51 1, 993, 300 187, 200 3243 129
57 | Bt 25 G52 867, 600 867, 600 0
58 | H 27 G5 3 1,372,873 | 1,361,612 0
59 | B 26 G54 1,525,074 | 1,005, 152 35y D1
60 | B 28 G55 1,242, 721 488, 990 543 D3
61 | B 27 G56 274, 793 0 ks
62 | H 29 G57 816, 009 240, 001 75y D5
63 | B 28 G58 1,487,379 | 1,380,712 1445 D1
64 | B 29 G509 458, 267 458, 267 0
65 | H 30 G60 960, 000 960, 000 0
67 | B 32 G6 1 783, 814 783, 814 0
68 | A 3 G6 2 364, 939 1, 339 25043 D1
69 | K 30 G6 3 1, 455, 859 0 £
71 | B 34 G6 4 1, 124, 104 854, 706 445 D1
72 | H 35 G65 1,132,346 | 1,132,346 0
73 | B 31 G66 2,101, 233 724, 242 35y D1
74 | H 36 G6 7 843, 117 120, 000 75y D6
75 | B 32 G6 8 1, 483, 200 804, 900 3543 D16
76 | H 37 G69 1,082,062 | 1,082,062 0
(WEEE: ! G70 2,028, 534 0 £
78 | B 33 G71 2,402,171 | 1,568,493 494y D17
79 | B 34 G72 883, 800 16, 072 554y D54
80 | B 35 G73 1,537,120 0 £
81 | & 36 G74 100, 000 0 o
82 | H 38 G765 1,237,984 | 1,235,429 0
83 | H 39 G76 1, 391, 823 0 25
84 | B 37 G77 1,271, 817 80, 351 954y 189
85 | H 40 G78 1,613,902 | 1,138,665 5y D2
86 | H 41 G709 704, 167 704, 167 0
87 | it 2 G8O0 1, 161, 283 0 £
88 | H 42 G81 1,718, 770 652, 092 8%y D5
89 | H 43 G82 1, 121, 334 0 £
90 | K 38 G83 1,457,972 0 £
91 | B 39 G 8 4 2,313,610 | 1,735,207 445D 1
92 | B 40 G85 2,628,070 956, 424 8%y D5
93 | H 44 G86 2,537, 582 0 2
94 | B 45 G87 537, 208 27, 827 584y D55
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95 | N 4 G838 746, 667 746, 667 0
9 | H 46 G89 2,753, 033 0 Nl
97 | A 47 G990 1, 035, 156 0 el
98 | H 48 G91 1,980, 000 | 1,080, 000 2431
99 | H 49 G92 2,754,504 | 1,237,274 24y D1
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